Inverse Functions
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REVISE THIS CHECK YOUR
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1 f(x)=2x+9 g0 =vx—3 h(d) =33+ 4 @

(@) Find f(x)

f1(x) =

(b) Find g'1(x)

gi(x) =

(c) Find h(31)

(Total for Question 1 is 6 marks)
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2 f()= 243 ax) =x2—6 @

(@) Find f1(x)

f1(x) =

(b) Find g(x)

gi(x) =

(Total for Question 2 is 4 marks)

3 f(x) = 50— x? gx) =4x>-1 @

(@) Find f1(1)

(b) Find g1(0)

(Total for Question 3 is 4 marks)
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4 fo=2 900 = % -3 @

(@) Find f1(x)

f1(x) =

(b) Find g(x)

gt(x) =

(Total for Question 4 is 4 marks)

5 f(x)=3100_x g(x) = 2(x + 14) @

(@) Find f1(4)

(b) Find g1(26)

(Total for Question 5 is 4 marks)
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6 f00= 205 4X) = V2T 3 @

(a) Find f1(x)

f1(x) =

(b) Find g(x)

gi(x) =

(Total for Question 6 is 4 marks)

7 f0=3-2 90 = (x - 5° @

(@) Find f1(2.5)

(b) Find g1(-27)

(Total for Question 7 is 4 marks)
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8 109=3"3 94 = V3x h(9 = 2x+ 1 @

(@) Find f1(x)

f1(x) =

(b) Find g1(9)

(c) Find (gh)*(x)

(@h)*(9) =

(Total for Question 8 is 9 marks)
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